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Candidates are required to give their answers in their own words as far as

practicable. The figures in the margin indicate full marks.
Time: 3 hrs. Full Marks: 75

g ‘¥ (Group 'A")
(Ffer dRTT ITUHE T¥AE®/ Very Short answer questions)
qa TyAe Ia< &8 | (Answer all questions.) [19x9=99]
q. GAEH THET I P B §5 FIOEE Jeoid Tarq |
Mention any two causes to arise problem of choice.
R AR AT T BT THIE qK[ IR QT &l AT HAW: & R¥ L& R0 A1y

T M3 THTE T IIEA TaTebT EHT ARG Tl TSar |
[f total cost of producing 7" and 8" unit of goods are Rs. 624 and Rs. 727

respectively, find marginal cost of producing 8" unit of goods.™ 10

ER ATy 3 HURTAT Wi\wg ? (Which bank is called lender of last resort ?)
¥, R a9 T Yoft auriaaer & g3t M See e |

State any one difference between money market and capital market.

Y. WA [qPTaa 1 EacT qaae® Jedd Tarq |

Mention any two indicators of human development.
g, UeElaae! AR frraad fraweedt qafua Aty T T KTew|

Name the international organisation dealing with global rules of trade between

nations.

9, GYeT AP H qadeT ILVUEE Aoy |

Write any two objectives of sixteenth plan.

g, & R FeTer et erdt AT IR T ARARIEH! JTear T (T I
gffy=a g ?

Which sustainable development goal ensures availability of water and sanitation

forall ?

Q. UF TAAP! TUHT TATEHLTEAD! I AT fEer |

Define statistics in a singular sense. W (Contd...)

N




3041'B’ (2)
90. HTHATT FRINT Rty e wrafves aarrgaen et s R 2 @
T&F P T TR |

Why is primary data preferred over secondary data in research work ?
Mention any one reason.

qq. afy T AU FANRT FET T FANRT G T WP 1 T Neae
FAL: Y T oY T Faamea e AR s T |

Interpret the result of coefYicient of range if difference and sum of largest
and smallest value of series are 25 and 83 respectively. o« ©

F ® (Group 'B')
(AT STUH® TAE®/ Short answer questions)

qe Y@ I Eﬁ?ﬁ[l (Answer all questions.) [axX- YO]
R ot T FToETdY st B wieaer freares R TR (X

Describe any five differences between capitalist and socialist economy.
4T (Or)
S PN HAE @ B ? THST Y A FIRAEE AT TR [§+V]

What is division of labour ? Explain its any four advantages.

L TSR YA agTaeT ST Tard | [X]
Explain the classical theory of interest.
¥/ RETH! AASTH! JTUTAT TAFT TEAEEPT I KR | [3+%]
Answer the following questions based on the given table.

& [T
AT (R.)
TFC (Rs.)

(I) fegaar atfers qa ﬂ@'@[ | (Complete the given table.)
(I) QX0 TR qfrraTe Ho EdTeie T HA T aHaes [oerd |

Draw total variable and total cost curves from the completed table.
R (Contd...)



(3) 3041'B’
QY. TN F&T (TC) = 60 + 7Q TIM Fed (TR) = 120Q - 5Q° F | Hfferer HAaearep!

IR T ATHT T TSTer | [3+3]
Let cost function (TC) = 60 + 7Q? and revenue function (TR) = 120Q - 5Q>.
Find out equilibrium level of output and profit.

9%. TR @] FA TIHaeT fadvare® quiT Ter | 4]
Describe any five features of direct tax.

99, qYE TEAT T &G | AR TMRIAFTA TS AT Foravept AT B qie
QIRCHS FHEEHT T1E ARGT 7 FHT THEEE (17 7 Tt e I[4]

You are residing in a village. If you are asked to advise by the Rural
Municipality to suggest for employment generation, what kinds of five
activities would you suggest for the improvement your village to generate
employment. Explain.

jmmﬁrmmmma? F qieaeT e AT TR I[4]
Why is foreign employment useful for Nepal ? Explain any five reasons.

R. fguar qaEFare @iy e o anE Afaerer At el [¥49)

Find the Standard Deviation from the given data and interpret the result.

e L R EX
Fwaon [s | 2 [0 |8 o

94t (Or)
}aﬂmmﬁmwwwmtmm
ML [¥+9)

Find the index number by using Paasche's method from the following
data and interpret the result.

o

9%
Commodity
Pnce (Rs ) Quantlt} Pnce (Rs) Quantity

A 12 10 15
B 5 lO 8 10
C 3 S
D 8 7




3041'B' (4) N —
e T (Group 'C') /7 }
(<@ SaUH® W¥e®/ Long answer questions)
!ﬁ TLAP JaAT R | (Answer all questions.) [3x5=RY]
Yo feguar aftrerar smarar e wrEEeT IeR RER) [¥+349]

Answer the following questions based on the given table.

w1/ Aba I & Y W A (%)
. u.m of gms Prlcc/AR(Rs) TR (Rs.) MR (Rs)

1*2, NS

(1) AT atierasr Q0 &g | (Complete the above table. )
(IT) QT e aiferarare e, draa T @ A0 ThEre ae{er |

Draw total, average and marginal revenue curves from the completed table.

(I1) AT GTHATH! IFeaT TR |

[dentify the structure of market.

& o qaee 7 e TR | [949]
What is free trade ? Why are developing countries not always benefited
from the expansion of free trade ? Explain.

2R AYTETHT TGRT TR UTTH FRUEEH edTeHT Mo | [5]

Evaluate the causes of increasing trade deﬁmt in Nepal.

g4t (Or)
AqTeTeRT TR ATAfS FTaT ITated JeaTed THery | [5]
Evaluate the achievement of fifteenth periodic plan of Nepal.
-0-



